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known that n of these coins have head on both

A bag contains 2n + 1 coins. It is
ir. One coin is selected at random and tossed. [f ”

whereas the other n + 1 coins are fai

probability that toss rcsults in heads is 12' then the value of n is
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Let A = {x, y, z, u} and B = {a, b}. A function f : A — B is selected randomly. T,
probability that the function is an onto function is
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e shaded region in the figure given is the solution of which of the inequations ?
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27. The distance between the foci of 2 hyperbola is 16 and its eccentricity is /2. Its equation is
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3, T R—>Randg: [0, ) - R are defined by flx) = ¥? and g(x) = \/x. Which one of the
following is not true ?

M) (fop) (D=4 (B) (fog) (2) =2 (©) (gof) (-2)=2 (D) (gof) (4)=4
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" -5 32 S S -
(A) o —ai+26 B A7 4 © 94+ 302 9x* - 305> + 26
% 4 LU 4418
/_;'!.r”'ghe relation R be defined in N by aRb if 3a + 2b = 27 then R is VSA L -
- 2 b )
y’{fo.f).u.lz).(s.sv).(i 9.0, (9~ l(’%?): gig B ©
(B) {(1,12),(3,9),(5,6),(7,3), 9, 0)} Gples—
©) {2 1),(9,3),(6,5),3, 7} KhP-S - 5, 9<})
@ {(1,12), 3,9, 5, 6), (7, 3) At
2 g) 4\

\}4]{;):&:12; + cos 2x and g(x) = x2 — 1, then g(f(x)) is invertible in the domain
LS - - w‘-——_.- 5

] onep]  oee[2
(%’Ln-\ QDW—'\)" 1 3s.
JaspE (S W+ 2650 oA

1€ pla ethen €y are paralleD)” is
samerplane_ 2 S M Loy

the same plane. %fnh




S0 0 "o pe NS Ve 0 ,

02 S s e
3;.! X "‘\' tf - ¥ ((}1 C}“ ?0
e M - H ', () . (/!
S - 1.
A1 If.r[ z ] 5 y[ 4 || ] =[ I,; ]thcn the value of x and y are n (\b\') - v =X 3

@&=-4y=3 \)9‘)’,:'=4.y=3 X

0! ) » -
lfA& B are two matrices such that AB = B and BA = A then A? + B% = ‘I’J‘( p)""\ :
\__(Ar2aB (B) AB (C) 2BA (D) A+B

BO s (M) N6+ O

is singular matrix, then the value of 5k - k? is equal to

a 38

30, IfA=[2-I_k 32k] 3¢
3 _
X (A) -6 B)-4 .5, -3 ()6 L,I—B")4/

o @;h 3 <9 B 6k’ ~ 8k-2 =¢
/\/TheareaofatriangleWith vertices (- 3, 0), (3, 0) and (0, k) is 9 sq. units, the value of k is

(A) -9 (B) 6 3 D)9 K2 g
-Ok4%- 4
ik

O,(q._bﬁa ,cy;((_‘l—lo)%O"“(L~9 (c“a—abi)«{ .

l a a 1B . % b=
41, TfA=|1 b b’ | andA,=| bc ca ab | then Cb‘l“"‘q@q M-% o

1 ¢ ¢2 a b ¢ 'E'C bl( —C (> Q""“') l&‘ﬂ‘ y

(A) a,=38 (B) A, A SYE =-A D) A, =A
O bt bl —ac™te¥+adc o _ g0 o0

=tan™! (I_?:Ex_z) where a, x € (0, 1) then the value of x is
e COL9a= o RS
= 0
oyl ( (o) e ..2’({:9;\* (taxq W)
L 9 - e
A& = 90 | Wbt

fasg jor |




AT SR, S A . — I

44. The function flx) = cot x is discontinuous on every point of the
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50 e distance ‘s’ in meters travelled by a particle in ‘t’ seconds is given by s = Zj‘ =18t 7 50.

The acceleration when the particle comes to rest is

(A) 10 m¥sec. 12 m%/sec. (C) 18 m¥sec. (D) 3 m%/sec.
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1 particle moves along the curve 16 T 4 = 1- When the rate of change of abscissa is 4 times 51.

that of its ordinate, then the quadrant in which the particle lies is
(A) ITorIV (B) Il or IV Vpe) 11 or 111 (D) Tor Il

S2.  An enemy fighter jet is flying along the curve given by y = x2 + 2. A soldier is placed at 52.
(3, 2) wants to shoot down the jet when it is nearest to him. Then the nearest distance is
(A) V6 units (B) 2 units (C) /5 units (D) A[3 units
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